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1.   �����	
��
����
    ������
����	������
���
�����������������
���
	��������� 

2.   ����
 	�!"����
������   �#���$%�&� $.�.2550 ) ����*� $.�.2551 

3.   ,%�,� �-�
�	
����,� �!"�.�
�
�/�0%.�     80  %   

4.   ��4�� �5%�!���	
�� (74��") 
 4.1   ����	�
�� 
��
�������
�  ���������������  10 % 
 4.2   �������  �  �������!�   ���������������    6 % 
 4.3   �������$��
��  ���%�	  ���������������    4 % 

5.   0!*%���� 

 ���&'(����� )*�
+,�������-%�./�0�-� �1��
	�$�
�2�
�2�����$	������-���-�$ 3./�-�
4�5�%-� 3 �6� 7*� ���
89��:������
���;
 �<& ���
�2�4�� 3 
�*��  ��������%���������4�/-�7��7��4��
&'(�����7�<  5 %-	� >�:�����%������4�/-�7��7��4��&'(�����>�:?-�%������ 
�*/����
���-0%6
�2�-�
���
���;
 �<& 
 2-
��$'�� � �+@;;��� ���'���� >�:
+,�>%���
��$��	6�6��&'(��������(�-(� 

�� )�+�:��7�������
.�A�  
�*/�+�:
-���)�������'��:���
���;
 �<& ���
�2�>�:���
�B�
������&'(�����0�
	�$�
�2�
�2�����$	� ���
.�A�7��5���5
+,��������$
(���B����><<'�7 ������ 
(Cross-sectional survey) �B�
������0� 4 '�7 T �: 1 ���%��� ?�6>�� ���%�����:�7�
���$�!$� (�$'	-� 

(�$���$ >�: ��� 7��
�*��
	�$�
�2�
�2�����$	����%����: 20 >%�� 
�2<�6�-	�&�$���(�/��5B�%�����������	�

�2� �B���� 628 7� ��<)�-����B�
������
89��:������
���;
 �<& >�:��������%�����������%��
����  +�:
-�����<��&'7��%��&�$������-(�/��5B�%�����%��4�/
�2���<+�:4��0�-*5���%���������>�:
��%�������6�$�: 30 ����B����
�2�4�/�$	�0�
	�$�
�2�4�/
+,�����- ���$���  ��
7��:%��6�-	�'��:���

���;
 �<& &�$0(6&+�>��-+�:
-��'��:���
���;
 �<& ����)�<������$&'(����� +V�.
.2544  
>����6�-	�
+,�7���6�$�:  ��
7��:%�+��-���������>�:�����%�����-*5���%���������>�:��%��
����&�$0(6&+�>��- INMUCAL (Version 4.0)  >���
+,�7���6�$�:
4�$<��<+��-��4�/>�:�B�0� 1 ���  

 �����
.�A��<��� 
�2�-��5B�%��� �-
��^���$��6�$�: 73.3  �����	� �-
��^� 7����6���	� 
>�:�	�����
��^���-����6�$�: 89.7 �-�����6�$�: 78.6 +@;%�&'(�����7*� 
�2�-�'��:�6��-������
'��:
 �5$+�:-�� 2 
4�� ��������B�
������
89��:������
���;
 �<&  �<��� 
7�*/��(�/�4�/0(60�
	�$�
�2�4��
>%��-�7��-�:
��$�4�/?-�
%-�:�- 7*� -�7��-�:
��$� 0.5 a 1 ��&����- ��!����(�/��5B�%���>�:��������	�
?-�)	� 6�� -����>+���4��7��5�4�/-����(�/��5B�%���-��������	��6�$�: 60-67 0(6�6�-	�
89��:���0�����:<�
+@;%�&'(��������
�2�
�*/�>�6?�+@;%��6�$�: 63.2 ���>�6?�+@;%�4��&'(���������0%;�
+,����
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0%67��-�	6��<�	6+�7��� ��������%���������-���$�����%��+�:
'4���4������6�$�: 36.8 ������?-6-�
0%64������6�$�: 10.5 -��������-���*��6�$�: 94.7 
-*/�������������%��4�/?�6��<���������-(�/��5B�%���
��%��4�/
�2�<��&'70�-*5���%���������>�:��%������ �B���� 172 7� �<��� �����%��4�/
�2�?�6��<?-�

��$��� 7*� ������� >7�
3�$- 
%�2� �� �-��
� �� �-��<� 1 >�:�� �-��3�  

 ���
.�A�7��5���5 (�50%6
%2���� -�7��-�B�
+,�4�/ 6����b��
��$'��7�	��/
��5$�0�
�*/�����
89�
�:������
���;
 �<& >�:��������%���������>�:��%������ ��-4�5���b��4�-+�:
-��-� �1��
	�$�

�2�
�2�����$	��6��&'(�����4�5�0��:��<���%���>�:
	�$����-�$
� 0%6-�-� �1��
��$���� 
�*/����
���-
0%6
�2�-����
���;
 �<& 
 2-
��$'�� 

6.   0!���    

 ��-���-�$ 
+,�%���$���%�./�4�/
�6�?+-�<4<�40������b��
	�$�
�2�
�2� 0%6
+,� c
	�$�

�2�
�2�����$	�d  �5�> �+V�.
.2544 
�*/�0%6
�2�?�6��<������
���-���'�� >�:-���b������$���
%-�:�- �$	�
0���/�>���6�-4�/�:��� +���'�$ >�:
�*5� �����
��$��	6(1) &�$%���$���4�/-�<4<�40������b��
	�$�

�2�
�2�0%6
+,�
	�$�
�2�
�2�����$	���5� -� 5 ���� 7*� 
	�$����-�$
�  �B���������!���������%���/
�B���������!�������B�
'� 
4
<��/�< .(�	6<��%��
	�$�
�2�
�2�) &���$�<��/�)������-�$(
�6�%�6�4�/
��!�������:��< B�<�) >�:
	�$�
�2�
�2�����$	�(�	6�	>�
�2�) &�$���--*������b��
	�$�
�2�
�2�0%6����

��^����+�:
-����<���-� �1��3./�-�4�5���5� 27 �6� ><��
+,� 3 �:��< 7*� �:��<�*5�1�� (����
��^� 9 
�6�) �:��<�� (����
��^� 17 �6� 3./���-�6�4�/
+,��*5�1�� 9 �6�) >�:�:��<��-�� (����
��^�4�5�%-� 26-27 
�6�)(2) �����$�������B�������-�$��/�>���6�-0�+V �.
.2548 �<��� 
	�$�
�2�
�2�4�/
�6����-&7�����
	�$�

�2�
�2�����$	�-�).� 16,773 >%�� >�:����
��^����+�:
-��>�6� 10,894 >%�� &�$
+,��:��<�*5�1���B���� 
6,219 >%�� �:��<���B���� 3,473 >%�� >�:�:��<��-���B���� 1,202 >%�� 

���&'(����� 
+,����%�./�4�/�$	�0�
��^�-� �1���:��<�*5�1�� �:��<�� >�:�:��<��-�� 
3./�-�4�5�%-� 3 �6� 7*� ���
89��:������
���;
 �<& ���
�2�4�� 3 
�*��  ��������%���������4�/-�7��7��4��
&'(�����7�<  5 %-	� >�:�����%������4�/-�7��7��4��&'(�����>�:?-�%������(1) 
�*/�0%6?�6��<
�����%��4�/�B�7�; �����
���;
 �<& ���������$>�:�-�� ��-4�5������6��'	-� 6��&�7 ?�6>�� ������� 
(7���&<?g
��4>�:?�-��) &+� �� >7�
3�$- 
%�2� ?�&���� ����:�� �� �-��
� �� �-��<� >�:�� �-��3� 
%��?�6��<�����%��?-�
%-�:�- ��7��- 6��������������$�:�B�?+�	�+@;%�4��&'(�����(&'(�����
���>�:
���) 7*� '��:
 �5$ '��:��- >�:'��:�6�� 4�5���5 
�2�+1-��$
+,���$4�/-������6��
3����-�� 
��6�-
�*5� ��:�	� >�:���$�: ���T &'(�����4�/�� �:(��$��b��0%6����+�:��< ���T ���������$
�-<	��� 4B�%�6�4�/?�6�$���-�+�:��4!�'�� 
+,���0%6
�2�-����
���;
 �<& 
 2- �-
��$'��4�����!����- 
� �+@;;��� -�7��-��6�-4�/�:
��$��	6��/� ���T��< �� ��b�����
%-�:�- �-��$ ���'��>�2�>�� >�:��
7��-
��/$�0����
���&�7?-� �� ��
�*5���� 
+,����������1��������-�7��'��(��� 4�/��0����7   



3 

 

 &�$4�/�?+ >-6����:-����+�:
-��
	�$�
�2�
�2�����$	�&�$7�:���-��� ���+�:
-���:��<

�  ���%��� >�:�B�
'� > �7��-
�6-�6�������+�:
-��?-�
4����� >�:?-���-��)+�:
-��0�
(��7��'��
�������B�
������&'(�����?�6 
(�� ���
89��:������
���;
 �<& ���
�2� 0�
�*/��7��-)	� 6��������
(�/��5B�%��� ��������	�  7��-
%-�:�->�:-� �1�����
7�*/��-*�4�/0(6  7��-)	� 6��������>+���  
'��:���
���;
 �<& ���
�2� ��!����>�6?�+@;%�4��&'(����� 7��-)�/�����������%��7�< 5 %-	�  
>�:+��-����%��4�/0%6��<
�2�-�7��-
��$��� ��7��- 6�����%�*�?-� �6�$
% ���5 �.�-�7��-�B�
+,�4�/
�: 6��+�:
-������B�
������&'(��������
	�$�
�2�
�2�����$	� 
�*/�0%64��<'��:���
���;
 �<& ���

�2�>�:����B�
������&'(�����0�
	�$�
�2�
�2�����$	� 

7.    %.7#���,
*� 


�*/�+�:
-���)�������'��:���
���;
 �<& >�:����B�
������&'(�����0�
	�$�
�2�
�2� 

8.    �&"������
���
��/ �&"����<�=�/-�0
-.
�� 
 
+,��������$
(���B����><<'�7 ������ (Cross-sectional survey) �B�
������0� 4 '�7 T �: 
1 ���%��� ��-
+,� 4 ���%��� ?�6>�� ���%�����:�7�
���$�!$� (�$'	-� 
(�$���$ >�: ��� 0�> ��:���%��� 
���-
	�$�
�2�
�2� �-
��^�-� �1��0�> ��:�:��< &�$7��
+,������������:��<�*5�1�� �:��<�� >�:
�:��<��-�� 
4����< 3:1:1 �����5� 0� 1 ���%��� ���-
	�$�
�2�
�2�����$	� �B���� 5 >%�� ��-�B����
	�$�
�2�

�2�����$	��:��<�*5�1���B���� 12 >%�� �:��<���B���� 4 >%�� >�:�:��<��-���B���� 4 >%�� ��-4�5���5� 
20 >%�� �B�
������
�2<�6�-	� �����5 

1. ��-'�A���	6�	>�
�2� -� 3 (�� 7*� �6�-	�4�/�?+����	6�	>�
�2� �6�-	�
	�$�
�2�  >�:�6�-	�
����B�
������&'(�����  

2.  ��-'�A����$�
4
-� ��/��$��< . 
�6�%�6�4�/��!�������:��< B�<� >�:�	6+�7��� 
3.  (�/��5B�%���>�:��������	�
�2�0�
	�$�
�2�
�2�4��7�&�$�����(���������������>�:


	�$����-�$
�  >�:�B��6�-	�-�+�:
-��'��:���
���;
 �<& 
�2� 
4.   �����<
7�*/��-*�4�/0(60����
89��:������
���;
 �<& 0�
	�$�
�2� ?�6>�� 
7�*/��(�/�

�5B�%��� 
7�*/����������	� ���i4�/0(60����+�:
-�����
���;
 �<& ���
�2� ><<i���-���<��4.��6�-	�
�5B�%��������	�>�:'��:���
���;
 �<&  %�*��-��<��4.����'�����
�2�  

5. (�/��5B�%�����%�����)����%��-*5���%���������>�:��%����������>�:%��������%��
&�$���-
�2�+�:-���6�$�: 30 ����B����
�2�4�/�$	�0�
	�$�
�2� 
�*/�+�:
-�����<��&'7��%�����
�2� 

��� �
*���>�-4���	 

1. �6�-	�4�/�?+ >�:�6�-	��B�
������&'(����� 7B����
+,�7���6�$�: 
2. +�:
-��'��:���
���;
 �<& &�$0(6&+�>��-7B����'��:���
���;
 �<& ���

�)�<������$&'(����� +V 2544  >�:7B����
+,�7���6�$�: 
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3. ��
7��:%�+��-�������%��4�/?�6��<&�$0(6&+�>��- INMUCAL (Version 4.0) >�:
7B����
+,�7���6�$�:��������%��4�/?�6��<
4�$<��<+��-��4�/>�:�B�0� 1 ���(3) 

4. 0(6&+�>��-7�-���
 ����B�
�2��	+ SPSS for Window Version 11.5 0����7B����
�6�-	��6�$�)� �
(�������
+,�7���6�$�: 

-�0
-.-�

��  
���
.�A�7��5���5 �B�
������
�2<�6�-	�
p��:�	64�/
��/$��6��0��:��< B�<� ?�6>�� 
�6�%�6�4�/

��!�������:��< B�<� �	6<��%��
	�$���b��
�2�
�2�(
4
<��/�< .) �	6�	>�
�2� �	6+�7��� >�:
�2�0�
	�$�

�2�
�2�����$	�  

9.   �	������
���
��/�	����<�=� 

-4���	!%� @�-�
�����
���
	��������� 

 ������+�:
-��������B�
������&'(�����0�
	�$�
�2�
�2�����$	��B���� 19 >%�� �� �����
�	6�	>�
�2� ��
�2�
��$����6�$�: 89.5 �	6�	>�
�2�����0%;�?�6��<����<�-�6��&'(�����-������ 1 7��5� 
>�:�:$:
���0�����<�-&'(����� +�:-�� 0.6-1 (�/�&-� �6�$�: 35.0 �����-�7*� �6�$����%�*�

4����< 0.5 (�/�&-� �6�$�: 27.5 ( ����4�/ 1) 


-*/���<)�-).��&$<�$����B�
������0�
	�$�
�2������$�
4
-� ��/��$��< .%�*�+��� 
�< .3./�
+,��	6<��%�����
	�$�
�2� �<��� 
	�$�
�2�-��&$<�$�6��&'(�����
��$��6�$�: 21.1 > �
-*/��	
��$�:
��$�����&$<�$&'(����� �<��� -��&$<�$0��6��������
���-���
���;
 �<& -��4�/����6�$�: 
63.2 3./�
+,�
�*/��
��/$���<����	>���������%���������>�:��%������0%6-�7��'�� ����-�B�%��<
�2�4��
7�4����� > �-��&$<�$0�
�*/�����+9�����>�:>�6?�
�2������%��>�:
�2��6���6�$-�� 7*� �6�$�: 
15.8 >�:�6�$�: 31.6  �-�B���< ( ����4�/ 1) 

�� ����
5��A
.�0�.-�

��� 

 ������(�/��5B�%���
�2�4�5�%-��B���� 611 7� �<��� 
�2�-��5B�%��� �-
��^���$��6�$�: 
73.3 
�2�-������	� �-
��^� 7����6���	� >�:�	�����
��^���-����6�$�: 89.7 
�2�-��	+�����-�����6�$
�: 78.6 ( ����4�/ 2) 

�����B,����>��!"�
���@�4�%0 

������(�/��5B�%�����%��4�/
�2�<��&'70�-*5���%���������>�:��%�������B���� 172 7� 

�*/���
7��:%�7��-
��$�����������%��4�/?�6��<0�-*5���%���������>�:��%������ )6�+��-���������
>�:�����%��4�/?�6��<�6�$�����6�$�: 35 ���+��-��4�/>�:�B�0� 1 ��� )*���� ?�6��<�����%��?-�

��$��� �����������>�:&+� ��4�/?�6��<-������ �6�$�: 45 ���+��-��4�/>�:�B�0� 1 ��� )*���� -��

���?+  
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1. �������>�:&+� �� 
�2�?�6��<������������%��4�/<��&'70�-*5��������>�:��%������ 
�6�$�: 30.8 ���+��-���6����� (Dietary Reference Intake: DRI) 0� 1 ��� &+� ���6�$�: 63.1 -����
��:��$����������7���&<?g
��4�6�$�: 47.9 ����������4�/?�6��<4�5�%-� ?�-���6�$�: 37.5 ���
�������4�/?�6��<4�5�%-� &+� ���6�$�: 14.6 ����������4�/?�6��<4�5�%-�  ( ����4�/ 3) 

2. >��!� � 
�2�?�6��<>7�
3�$-�6�$�: 33.1 ���+��-���6�����0� 1 ��� i��i�����6�$�: 48 
!� �
%�2��6�$�: 34.4 ( ����4�/ 3) 

3. �� �-�� 
�2�?�6��<�� �-��
� �� �-��<� 1 �� �-��<� 2 >�:�� �-��3� �6�$�: 23.9, 39.7, 94.0 
>�: 27.3 ���+��-���6�����0� 1 ��� ( ����4�/ 3) 


-*/��B�>��
�2����
+,� 3 ����-  �-7���6�$�:����������>�:�����%��4�/?�6��<
4�$<��<
+��-���6�����0� 1 ��� 7*� �������>�:�����%��4�/?�6��<�6�$�����6�$�: 35, �6�$�: 35-45 >�:
-�������6�$�: 45 �<��� 
�2�����0%;�?�6��<������� !� �
%�2� �� �-��
� �� �-��<�1 �� �-��3� �6�$����
�6�$�: 35 ���+��-���6�����0� 1 ��� �����7*� �<
�2�).��6�$�: 70.3, 79.1, 84.2, 56.4, 73.8  �-�B���< 
>�:
�2�?�6��<&+� ��-�������6�$�: 45 ���+��-��4�/>�:�B�0� 1 ��� ).��6�$�: 84.9 ( ����4�/ 4) 

������
���
���������� 
 ����B�
������&'(�����0�
	�$�
�2�
�2�����$	� -� 2 
�*/�� 7*� ���
89��:������
���;
 �<&  
>�:��������%���������>�:��%������  

1. ����������	���
����
�	����������������	���� ( ����4�/ 5) -���$�:
��$������5  
1.1 ���+�:
-�����
���;
 �<& ���
�2� �������0� 4 +�:
�2�7*� 
7�*/��-*�4�/0(60�

���+�:
-�����
���;
 �<& ���
�2� ��!����(�/��5B�%��� ��!������������	� >�:���>+��� 
� 
7�*/��-*�4�/0(60����+�:
-�����
���;
 �<& ���
�2� ?�6>�� 
7�*/��(�/��5B�%���>�:


7�*/����������	� �<��� 
7�*/��(�/��5B�%���4��
	�$�?-�
%-�:�-��<
�2���$� 2-5 +V 7*� -�7��-�:
��$� 0.5 a 
1 ��&����- >�:�����+����4�/0(6���7��-�	�7*� ?-6p�� &�$�<���-����0(6?-6<��4��0�������7��-�	�
-��4�/��� 7*� �6�$�: 63.2 �����-�7*� ��:��A>�2�/�-��>�2� �6�$�: 26.3  

�  ��!����(�/��5B�%���>�:��������	�?-�)	� 6���6�$�: 100 >�:�6�$�: 78.9         
 �-�B���< 

� ���>+��� �<��� -����>+���4��7��5�4�/-����(�/��5B�%���-��������	�
��$��6�$�: 
63.2 -��������5B�%��������	�>�:���
�6�
(*/�-����<�6�$�: 31.6 ����0%;���/
��5$�
�2�
+,��	6>+���'��: 
���
���;
 �<& >�:����5B�%��������	�<����i  

1.2 ���>�6���'��:���
���;
 �<& ���
�2� -�
	�$�
�2�4�/?-�?�6>�6���+�:
-���<�6�$�: 
21.1 �B�%��<
	�$�
�2�4�/-����>�6��� ����0%;�>�6���<�	6+�7��� -�>�6���<
�6�%�6�4�/��!������>�:�+4.
�6�$-���<�6�$�: 36.8 >�: �6�$�: 5.3  �-�B���< 
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1.3 ���>�6?�+@;%� -�����:<�+@;%�?�6 �� �- ��(�5���4�/0(6
��$��6�$�: 50 -�����:<�
+@;%�&'(�����0�
�2� &�$�	����	+����>�:
+��$<
4�$<��<�5B�%��������	�7��5�4�/����-��6�$�: 26.3 
>�:�6�$�: 5.3  �-�B���< ��������5� $��-�
	�$�
�2�4�/?-�?�6�B�
������>�6?�+@;%�&'(������6�$�: 5.3 
��!����>�6?�����0%;�
+,����0%67��-�	6��<�	6+�7��� �6�$�: 84.2 
 2. ��������������	
����������
��	 �<��� -���$�����%��+�:
'4���4�����0�-*5�
��%����������6�$�: 36.8 ������?-6-�0%64�����
��$��6�$�: 10.5 4�5���5 
	�$�
�2�
�2�4��>%��0(6
��*�

���-?�&����4�/-�7��'�� >�:0(6+�����%���������4������6�$�: 78.9 (�������-4�/
	�$�
�2����0%6
+,�
�-���*��6�$�: 94.7 �$���?��2 �- 
�2��*/-�-%-�
��$��6�$�: 84.6 ( ����4�/ 6) 

.���
!"� 1  -4���	!%� @�-�
�����
���
	���������  
���%0��.�C��-�
�����
��� (�4��	�) 

-4���	!%� @�-�
�����
���
	��������� 
$�D�C�� �" �"��� 

� � 

�B����
	�$�
�2� (>%��) 11 3 5 19 
�B����
�2� (7�) 336 139 153 628 
��$�
p��/$���
�2� (+V) 3.6 3.5 3.5 3.6 

	�$�
�2�
�2�4�/-��� �������/
��5$�
�2� ��
�2�
��$���  81.8 100.0 100.0 89.5 
7�	��/
��5$�?�6��<����<�-�6��&'(�����     
  -  ?-�
7$  21.7 0 9.1 13.3 
  -  1 7��5�  34.8 9.1 36.4 28.9 
  -  2 7��5�  21.7 54.5 18.2 28.9 
  -  ≥3 7��5�  21.7 36.4 36.4 28.9 
�:$:
���4�/0(60�����<�-&'(��������7�	��/
��5$�     
  -  ≤ 0.5 (�/�&-�  31.6 27.3 20.0 27.5 
  -  0.6-1 (�/�&-�  31.6 36.4 40.0 35.0 
  -   1.1-2 (�/�&-�  21.1 0 10.0 12.5 
  -  > 2 (�/�&-�  15.8 36.4 30.0 25.0 
�+4.-��&$<�$     
- �6��&'(�����('����-) 27.3 0 20.0 21.1 
- �6�����
���-���
���;
 �<&  63.6 66.7 60.0 63.2 
- �6��>�6?�+@;%�
�2������%�� 18.2 0 20.0 15.8 
- �6��>�6?�+@;%�
�2��6�� 18.2 33.3 60.0 31.6 
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.���
!"� 2  �4��	�-�

���!"��"�� ����
5��A
.�0�.���%0.��
E  
���%0��.�C��-�
�����
��� (�4��	�) 

�� ����
5��A
.�0�.-�

��� 
$�D�C�� �" �"��� 

� � 

�B����
�2�4�/(�/��5B�%���-��������	�(7�) 326 134 151 611 

�D��>�%�.��
�BF����#     

  - �5B�%���-������
�� �̂ 10.7 6.0 6.0 8.5 
  - �5B�%���7����6��-�� 5.5 4.5 4.6 5.1 
  - �5B�%��� �-
�� �̂ 69.0 79.9 76.8 73.3 
  - �5B�%���7����6���6�$ 11.0 6.0 7.9 9.2 
  -  �5B�%����6�$����
�� �̂ 3.7 3.7 4.6 3.9 

,� �,�
.��
�BF����#     
  -  �	�����
�� �̂ 4.0 1.5 2.6 3.1 
  -  7����6���	� 5.2 3.7 4.0 4.6 
  -  �	� �-
�� �̂ 81.0 85.1 81.5 82.0 
  -  7����6��
 �5$ 4.9 5.2 7.9 5.7 
  -  
 �5$ 4.9 4.5 4.0 4.6 

�D��>�%�.��
�BF�,� �,�
     
  -  �6�� 6.4 3.7 2.0 4.7 
  -  
��/-�6�� 5.5 4.5 5.3 5.2 
  -  46�- 4.6 6.0 3.3 4.6 
  -  �-���� 75.8 81.3 82.1 78.6 
  -  7����6����- 3.7 3.7 4.6 3.9 
  -  ��- 4.0 0.7 2.6 2.9 

 
.���
!"�  3  *��
G	"��H	��4��	�-�
$	%

��H	�,����>��!"�
���@�4�%0
����
��"�0
!"�0�%0�����B�4�
��
 (DRI) �� 1  %� 

*���%&�C��-�
$	%

��H	�,����>��!"�
���@�4�%0 �4��	�
����
!"�0�%0�����B�4�
��
�� 1  %� 

,����>�� � �  

(n=172 *�) 

$�D�C�� 

(n=88 *�) 

�"  

(n=35 *�) 

�"���  

(n=49 *�) 
� �  

$�D� 

C��  
�"  �"���  

������� (��&�>7����) 343.1 314.5 362.5 378.9 30.8 28.0 32.2 34.7 
&+� �� (���-) 12.2 12.6 14.0 11.2 63.1 62.9 70.1 58.5 
>7�
3�$- (-�������-) 238.1 197.1 236.2 246.1 33.1 30.3 36.0 36.1 
i��i���� (-�������-) 237.5 223.5 238.1 244.3 48.0 46.6 49.2 50.0 

%�2� (-�������-) 1.2 1.4 1.0 1.2 34.4 47.2 23.2 19.5 
�� �-��
� (?-&7����-) 89.4 92.1 72.0 102.1 23.9 25.9 17.2 25.1 
�� �-��<�1 (-�������-) 0.5 0.5 0.5 0.6 39.7 46.0 23.3 40.2 
�� �-��<� 2 (-�������-) 0.2 0.2 0.1 0.2 94.0 88.9 98.2 100.0 
�� �-��3� (-�������-) 8.3 7.1 9.0 9.6 27.3 20.0 39.2 31.7 
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.���
!"� 4  �4��	�-�

���!"�@�4�%0$	%

��H	�,����>��
����
!"�0�%0�����B!"�H������� 1  %� 
�4��	�
����
!"�0�%0�����B!"�H������� 1  %� 

,����>�� 
�4��� �� 35 35-45 ���� ��  45 

������� 70.3 22.1 7.6 
&+� �� 9.3 5.8 84.9 
>7�
3�$- 33.7 64.0 2.3 

%�2� 79.1 8.7 12.2 

�� �-��
� 84.2 8.2 7.6 
�� �-��<�1 56.4 20.3 23.3 
�� �-��<�2 5.2 2.3 92.4 
�� �-��3� 73.8 4.1 22.1 

 
.���
!"� 5  -4���	������
���
��
OP��� %
���
5��A
.�0�.-�

����������
���
	���������  

���%0��.�C��-�
�����
���(�4��	�) 
-4���	������
���
��
OP��� %
���
5��A
.�0�. 

$�D�C�� (n=11 H>�
) �" (n=3 H>�
) �"��� (n=5H>�
) 

� �  (n=19 H>�
) 

(�4��	�) 

• 7��-�:
��$����
7�*/��(�/��5B�%���     

� 0.5 ��&����-  54.5 100.0 80.0 68.4 
� 1 ��&����-  45.5 0 20.0 31.6 

• ��+����4�/0(6���7��-�	����
�2�     

� ��:��A>�2�/�-��>�2� 27.3 33.3 20.0 26.3 
� ?-6<��4�� 63.6 66.7 60.0 63.2 
� ?-6p���B�%��<���7��-�	�&�$
p��: 9.1 0 20.0 10.5 

• ��!����(�/��5B�%���
�2�?-�)	� 6�� 100 100 100 100 

• ��!������������	�
�2�?-�)	� 6�� 90.9 100.0 40.0 78.9 

• ���>+����5B�%��� �����	�     

� >+���4��7��5�4�/-����(�/�-���  63.6 66.7 60.0 63.2 
� >+���<��7��5� 18.2 33.3 20.0 15.8 
� ?-�-����>+���  18.2 0 20.0 21.0 

• ���>+������
���;
 �<& &�$7�	��/
��5$� 100.0 100.0 75.0 93.8 

• �������5B�%��� �����	� >�:���
�6�
(*/�-&$���� 36.4 0 40.0 31.6 

• �������5B�%��������	�&�$7�	��/
��5$� 83.3 100.0 100.0 90.0 

• ���>�6������
���;
 �<&      

� ?-�?�6>�6�  27.3 0 20.0 21.1 
� �	6+�7���  72.7 100.0 80.0 78.9 
� 
�6�%�6�4�/��!������  27.3 66.7 40.0 36.8 
� �	6<��%��
	�$�
�2�(�< ./
4
<��)  9.1 0 0 5.3 

• ����:<�+@;%�&'(�����?�6 �� �- ��(�5���4�/0(6 66.7 0 50.0 50.0 
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.���
!"� 5  -4���	������
���
��
OP��� %
���
5��A
.�0�.-�

����������
���
	��������� (���) 
���%0��.�C��-�
�����
��� (�4��	�) 

-4���	������
���
��
OP��� %
���
5��A
.�0�. 
$�D�C�� (n=11 H>�
) �" (n=3 H>�
) �"��� (n=5 H>�
) 

� �  (n=19 H>�
) 

(�4��	�) 

• >%����6�-	�4�/0(60�����:<�+@;%�&'(�����0�
�2�     

� ����6�-	�
89��:���u 63.6 33.3 80.0 63.2 
� ����	+�������
�2� 27.3 66.7 0 26.3 
� 
+��$<
4�$<��<�5B�%��� �����	�4�/����-� 0 0 20.0 5.3 
� ?-�?�6>�6?� 9.1 0 0 5.3 

• ��!����>�6?�+@;%�     

� 0%67��-�	6  81.2 100.0 80.0 84.2 
� 0%6��%��
���- 27.3 33.3 40.0 33.3 
� �	>���������%���������4�/
	�$�
�2�  27.3 0 0 15.8 

 

.���
!"� 6  -4���	���5%���>���	�
 %�H	���>�� ��
�������
���
	���������  
���%0��.�C��-�
�����
���(�4��	�) 

-4���	���5%���>���	�
 %�H	���>�� ��
 
$�D�C�� (n=11 H>�
) �" (n=3 H>�
) �"��� (n=5 H>�
) 

� �  (n=19 H>�
) 

(�4��	�) 

• ��������%���������     

� ���     
�  4�����  18.2 33.3 80.0 36.8 
�  ��+��%��: 3-4 ���  63.6 66.7 20.0 52.6 
�  ��+��%��: 1-2 ���  18.2 0 0 10.5 
� ?-�?�6���0%6  0 0 0 0 

� ��?-6     
�  4�����  18.2 0 0 10.5 
�  ��+��%��: 3-4 ���  45.5 66.7 40.0 47.4 
�  ��+��%��: 1-2 ���  27.3 33.3 40.0 31.6 
�  ?-�?�6���0%6  9.1 0 20.0 10.5 

• -�
��*�
���-?�&����0����+�����%��������� 100.0 100.0 100.0 100.0 

• 0(6
��*�
���-?�&����0����+�����%��4����� 63.6 100.0 100.0 78.9 

• (�������-0�
	�$�
�2�     

� �-�*�  90.9 100.0 100.0 94.7 
� �-+���> �� �-
+��5$� �-)�/�
%�*��  9.1 0 0 5.3 

• ����*/-�-     

� �*/-�-%-�  82.3 80.9 92.6 84.6 
� �*/-�-?-�%-� 10.4 18.3 7.4 11.0 
� ?-�����- 7.3 0.8 0 4.4 
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10. ������@���4�������� 

+�:��������<�	6��<���(�<�������<�-7�	��/
��5$������-���+�7�������46��)�/�
�*/�
��/-
%���6����
89��:������
���;
 �<& ���
�2� 
�*/����������
.�A��<��� �	6�	>�
�2����7��-�	6>�:4��A:
�6�����+�:
-�����
���;
 �<&  ������
���-���
���;
 �<&  ���+9�����>�:>�6?�+@;%�
�2������%��
>�:
�2��6�� ��������5� ?�6�B��6�-	�������
.�A�7��5���5
���0�4�/+�:(�- ��� T 4�/
��/$��6����<
	�$�
��b��
�2�
�2� 
�*/�0%6-����+��<+���
��^�-� �1�� %�*�0%6
���7��-
�6�0�0�
��^�-� �1�� ��-4�5����
�B�
������&'(�����4�/)	� 6��
%-�:�- 

11. * ���#�
�����������
���
��/�QA>�/�#�,��* 

���
�2<�6�-	�  -�7��-�����������6�-	�+�:
-��-� �1��0�����������<�*5�4�/0�
�*/��
�:��<-� �1�����
	�$�
�2�
�2�  �.�4B�0%6
���7��-7���
7�*/������B����
	�$�
�2�
�2��:��<����?+         
1 >%��  >�:���4�/
�2<�6�-	�
	�$�
�2��:��<�� 
+,����%$��(�
($���
�*�� �5�  4B�0%6
	�$�
�2��:��<��������� 
1 >%��  
%�*�
��$� 3 >%��  

12. -4�
,��H��/ �5��B� 

���
.�A�7��5���5 -���
�6�+�:
-������B�
������ 3 
�*/�� 7*� ���
89��:������
���;
 �<& ���

�2� ��������%���������>�:��%������ >�:'��:���
���;
 �<& ���
�2� &�$�������+@;%�4�/�<>$�

+,� 2 +�:
�2� 7*� +@;%�����B�
������ �-
��^�-� �1���6��&'(��������
	�$�
�2�
�2�����$	�>�:
7��'������B�
������ 

1. ���
89��:������
���;
 �<& ���
�2�4�� 3 
�*�� �<��� 0�+�:
�2�>�� +@;%�������
�B�
������
89��:��� 7*� ?-�-����>+������(�/��5B�%���%�*�>+���+V�: 2 7��5� ?-��B��6�-	�
89��:���u-�0(6
0�����:<�
�2������%��>�:
�2��6�� > �0(6����	�	+�������
�2������-%�*��6�� >�:
+��$<
4�$<��<7��
�5B�%��������	�4�/����-� 3./�)*���� ?-�����
��^�+�:
-����<���-� �1���:��<�*5�1��0�
�*/�����
89��:���
���
���;
 �<& ���
�2� ��/�
%�����5�:46��0%6
%2���� ���+�:
-����<���-� �1��
	�$�
�2�
�2�����$	��:��<
���%���>�:
	�$�
� $��?-�)	� 6��  

+�:
�2�4�/��� 7��'������B�
������ �������0�
�*/��
7�*/��-*�>�:
47��7���(�/��5B�%��� 
��������	� ��-4�5����>+������
���;
 �<&  ��/�7*� 
7�*/��(�/��5B�%��� ��-).���!����(�/��5B�%�����������	� 
�<��� 7��-�:
��$����
7�*/��(�/��5B�%��� 
4����< 0.5-1 ��&����- 3./�-�7��-%$�<
���?+�B�%��<
�2���$��5 
7��-�:
��$�4�/
%-�:�-7*� 0.1 ��&����-(4)  
47��7���(�/��5B�%���4�/?-�)	� 6�� 7*� ?-� �����<-� �1��

7�*/��(�/��5B�%���4���7��5� ?-� ����	��/����0� ��
�2�>�:?-��B���/������� ?-�)��
�*5��6�%�� T ��� %�*�
0%6
%�*��6�$(�5�4�/��� >�:?-�)��)��
46� ������!������������	��<��� ����0%;�0(6?-6<��4��%�*��-��>�2�/
��:��A>�2�0������������	� 3./��:4B�0%6�������7���5B�%���>�:�����	��������?�6���$ �.�7��0(6?-6p��
�B�%��<��������	�3./��<
��$��6�$�: 10.5 
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�������5B�%��������	�>�:���
�6�
(*/�-���<����i���
���;
 �<&  
+,�%������������
 �� �-���
���;
 �<& (Growth Monitoring and Promotion: GMP) 3./�>�:�B�&�$��7�������-�$&��(5) 

+,����>���4�
4��%�*�>��&�6-���
���;
 �<& 
�*/�
 *��'�$).����
���;
 �<& ?-��� 4B�0%6��-��)
+9�����?�64������4�/
�2��:�����%��%�*��6�� ���
.�A���5 �<��� -��������5B�%��������	�>�:���
�6�

(*/�-����6�$�: 31.6  
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